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1 (32  2 (36   3 (48  4 (54   
2 -         .         .             

1(3 2
2  2(2 3

3   3(4 2
3  4(4 3

3 )     84(  

3-                   15    9              5     .                         
               )      85(  

1 (5    2 (6     
3 (7    4 (8   

4-           8 2 11   .               
1(2  2 (3  3 (2  4 (3  )     85(  

5-                                 .                    ) 
      (  )     86(  

1(1
6  2(1

4  3(1
3  4(1

2   

6 -              .             )     87(  
1 (7  2 (8  3 (9  4 (10   

7-     15  12  9        

1 (5/7  2(657   3(657
2  4(657

4   

8-    A  B  C   1  4  7    .     A    B       
1(035  2(/ 052 5   3(075  4(015   

9-  BB AB2 AC CC2 .  ABC    AB C   
1 (9    2 (6   

3(9
4    4(9

2   

10-           182    .       10        
1 (3  2 (4  3( 6  4 (7  )  81(  

11 -               )     85(  
1(AB AC    2(AB BC    
3(AE BC    4(AE AC   

12-             .     14  2         
1 (8   2 (9  3 (10  4 (12   )     85(  

13-           .  x    )     85(  
1 (5     2 (5/5    
3 (6    4 (5/7   

14 -      R          .          )      85(  

1 (1  2(5
4  3(4

3  4(3
2  

15-                   

1 (2  2 (2 3  3( 3  4 (2  

   )3 (    
1-                )     84(  

1(21 3    2(51 9    

3(71 9    4(81 9   

30 

30 

B
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9-      a    
, xx af (x)

x ax , x2

1 1

1
 x 1    

1({ , }1 2  2({ , }1 2 1 2   3(  4(   
10 -     f (x) x3      x 3 x /0 1         x 3     

1 (31/0  2 (42/0   3 (62/0  4 (91/0   
11-       y x x3 2   x 1          A    .   A    

1 (3-  2 (2-   3 (2  4 (3   
12-        f (x) cos x sinx21    

1 (1-  2(1
2  3(1

4  4 (   
13-          .    4             

1( 251
256  2 (255

256  3( 127
128  4( 63

64  
14-                        .  

1( 3
8  2( 5

8   3( 3
7  4( 4

7  

15-  x y x y x y x y2 5 3 1 3
3 2 1 4      

1 (  2 (   3 (   4 (   
16-   x( )81 2    x3  )         (.  

1 (7-  2 (6-   3(7
2  4 (3-   

17-         
n

nU
n3
3    

1 (  2(1
3   3 (1  4 (3  

18-    log(y )2 1 log(y x) log( x y)4 2  x    
1 (1  2 (2   3 (3  4 (4   

19-   x xy , a
ax x

2
2

3 0
4 1

      .           

1(( , )1 1
2 4  2(( , )1 1

2 4   3(( , )1 1
2 4  4(( , )1 1

2 4   

20-    y x 0      y x x ln(x )21 2 12  .      
1 (1  2 (2   3 (3  4 (4   

21-     y x x2         
1(( , )10 4  2(( , )10 2   3(( , )0 1  4(( , )1 1

4 2   

22-       x af (x) x b
2

   ( , )1  . (a,b)    
1(( , )1 1  
2(( , )10     
3(( , )0 1  
4(( , )0 1   

23-      y (x y)2 4              .       
1(x y y2 2 4 0  2(x y y2 2 4 0   3(x y y2 2 2 2  4(x y x y2 2 2 2 2   

24-    y x2 1 0 y x2 1 0        ( , )3 0  .       
1(x y x2 24 8 0  2(y x y2 24 8 8   3(x y x2 24 2 3  4(y x x2 24 2 5   

25-     f  .f (x)dx
8

0    

1(1
2  2 (  3( 1

2  4 (1  

26- f (x)x dx C
x x x

2 1
3

  f (x)    
1(x2 3  2(x3 2   3(x22 6  4(x22 3   
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